Date: Name:

Solving Riddles by Counting
by 3s Worksheet

5.In a farmyard, there are 4 barns.
Each barn has 3 horses.
How many horses are there in total in all the barns?

Ans:

6.In a grocery store, there are 6 boxes.
Each box has 3 cupcakes.
How many cupcakes are there in total at all the boxes?

Ans.

7.In a store, there are 5 shelves.
On each shelf, there are 3 jars of jam.
How many jars of jam are there in total on all the shelves?

Ans.

8.1In a toy store, there are 3 shelves.
On each shelf, there are 3 teddy bears.
How many teddy bears are there in total on all the shelves?

Ans.
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